| dE/dx estimator 1 | | dE/dx estimator 2 |

" " " " " " Entries 52483 " " " " " " Entries 52483
0.3 irrmiregee m T Mean 3.409 : R : : © | Mean 3.163
- : : : i |Std Dev 0.831 : : i |Std Dev 0.8338
IR S 0.3 :
0_25_....5, ...... ...... ]----- ....... ...... Entries 52395
I : : : : : Mean 3.409
o i | std Dev 0.8316 0.25

Entries 52395
: : : : : Mean 3.164
SUOUE SURE JO N fasnae eoeenieoo| Std Dev 0.8342

0.2t I A {7 Entries 52370 Entries 52370

B : : i | Mean 3.41 0.2t I S o Mean 3.164
- N ; ; . [ Std Dev 0.832 ) ]: Std Dev 0.8346
0.15 : : : : : : Entries 52370

o Entries 52370

F [ e 341 0-15

| : : : : : : Std Dev 0.832

000 | ] O S e RRRR SRR R
o sl b [Enes 52370 0.1

Mean 3.41

Std Dev 0.832

oos gl el

Mean 3.164
Std Dev 0.8346

Entries 52370
Mean 3.164
Std Dev 0.8346

J_.\'O |||i| ﬁlllﬁllllﬁlllli'l: L J..\.Q |||i|| i””ﬁ””:””il ot - .i.

Ratio
Ratio

=
o, e 5
L)
s

=
o s

0.95

6 7 8 9 10 %01 7 8 9 10
dE/dx, harm?2 dE/dx, trunc40

—=— DQM_V0001I_R000000001 G ODaI_bIVIbeV onf(%
—e— DQM~V0001~R0O00000001Global__CMSSW hptt08
—— DOM_V0001"R000000001" Global CMSS\N—ﬁpttOS
e D
—— D

(@)

N
NE
_b_
ok

M—V0001~R000000001Global —CMSSW hptt03
M—V0001~R000000001—Global—CMSSW hptt01

M . [ eemnennn feeenenaata CToTeS o . T~ S S T T .. T TS 52483
0.1 ' : : : 1 Mean 9.945 0.5 : E : *’| Mean 0.8108

Std Dev 4.145 : |_Std Dev 1.04
Entries 52395 EL Entries 52395
0.08; e [ froseeees B B | Mean 9.944 0.4 Breeeee froseeees R Broeeeee #*| Mean 0.8111
: : : : ! |Std Dev 4.144 : : : : : ! |Std Dev 1.041

- : : : : . | Entries 52370 I : : : : . | Entries 52370
] e s S L 0.3 i e o
! . . . . ' | std Dev 4.144 : : : : . | Std Dev 1.041

: : : : : | Entries 52370 : : : : : | Entries 52370
: : : : : . | Mean 9.945 : : : : : . [ Mean 0.8113
0.04¢ : : ; : 'l std Dev 4144 0.2 Std Dev 1.041

IS S A

Entries 52370 Entries 52370
: : : : : | Mean 9.945 " : : : : | Mean 0.8113
0.02f" R 5 o o frree | std Dev 4.144 0.2 i frovee o o | std Dev 1.041

1 T T T

J_.LQ:-IIII:IIII: IlilIllillllillllillllilllli .L.\.Q

1;}*

09501620 30 40 50 60 70 80 0'950 10 20 30 40 50 60 70 80

dE/dx number of measurements dE/dx number of measurements with saturation

=TT T T

T
3
3
H
H
=
T 1-|-r£1-
-
3
. le
b,
2




	Contents
	Page 1


